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100 100 100 100 100 100 100 100 100 50 100 1100

12 Bgivb †nv‡mb 74 82 70 71 81 83 83 68 85 89 87 873 79.36 A 1

15 Avng` BKivg †kL 72 83 42 46 80 67 83 65 84 78 76 776 70.55 A 2

13 Avjfx Av`nvg  mxbnv 76 76 48 58 68 63 85 70 85 77 68 774 70.36 A 3

10 ‡ZŠwn`yj Bmjvg bvCg 68 67 45 56 52 73 89 65 81 70 83 749 68.09 A- 4

11 iæRnvb gynv¤§v` Rvnxb 63 72 70 60 35 70 85 62 77 84 71 749 68.09 A- 4

1  †g‡n`x nvmvb 66 85 53 55 52 65 74 66 79 76 66 737 67 A- 5

16 Beivnxg Lwjj 69 70 45 52 66 58 84 62 89 77 65 737 67 A- 5

14 bvCg nvmvb 71 73 33 40 58 57 78 67 79 80 77 713 64.82 A- 6

9 Bgivb Lvb 62 75 45 65 45 58 73 61 69 73 73 699 63.55 A- 7

5 nvgRv web ZvwiK 54 67 43 54 60 53 69 58 73 80 81 692 62.91 A- 8

2 Igi web Avt AvRxR 57 69 35 49 58 58 84 57 85 63 62 677 61.55 A- 9

6 Bqvwmi Avngv` 56 68 33 41 50 43 76 69 90 82 67 675 61.36 A- 10

4 ZvR DwÏb Avngv` 59 65 33 33 51 57 73 56 75 66 78 646 58.73 B 11

7 Igi Avj dviæK 53 58 36 35 38 50 80 60 72 79 71 632 57.45 B 12

3 Avãyjøvn Avj gvngy` 64 71 26 49 54 62 78 72 82 57 75 690 62.73 F 0

8 gyRvwn`yj Bmjvg 63 63 25 34 38 67 86 67 78 71 79 671 61 F 0

 †gvU QvÎ = 16 Rb,  A+ = 0 Rb, A = 3 Rb, A- = 9 Rb,  B = 2 Rb, C = 0 Rb,   F = 2 Rb, Abycw ’̄Z= 0 Rb|

ivkv` GKv‡Wwg, wgicyi-12, XvKv-1216

wbev©Pbx cixÿvi djvdj:  2025
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